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Name: - e Date: Period: ____ . R o} § :
N ® Review s\mx_uosm_)nm & Logarithms ) ' ) 8. Sketch the graph of the given function by doing the \
Uni . 5 . g 3 g T " following:. Sketch the asymptote, label at least two ||
nit 9 Equations ) Exponential ; g Compounding Interest " distinct coordinate points, and write the domain and L P
Any-other equations not listed will be Growth or Decay ; ¢ " : ) e range .
_ given in the application problem. y = ab* A=Pe™ or A=P AH +.mv : et i 7
: , % . y C 1] i
f(x) =logs(x +4) -
1. Under mmn: ?32.03 write * ‘yes’ _* itisan e xmo:m::m_ function. If the answer is “no”, write an , \
explanation why not. ) ‘ . !
a) y = 3x° - nNx . ] . . . . i
*‘ _ x b) y =—2 Auv . . ’ Domain: . .xm:mm.. [ 20 o) i
N0 ot u=a-o fes , (4, 09) ) "
/ g ’ / E v

2. Tell whether the equation represents an exponential growth or exponential decay function.

x 11. Condense to a single logarithm:

10. Expand In=

=—05(3Y b) y =—3(e)™¥ e
a) y=-05 Pv @ K,OS\L\Y. QPQ\GQ : . 9. Simplfy 7573 Your " 1
- , . hould contain only . 2loga M_omw ~logk
¥ 1 . 3 o : I . " answer shou =
3. Rewrite log,e 3 = =7 in 4. Rewrite 37" = — in logarithmic 5. Evaluate logse 6 uom.:?m exponents, - ,
exponential form. form. 3 \
el \ _ _ Lo v | bx : Moa o + Qos o "~
* ” T ge ® v =e N A\ 21 '3
b~ = | 99y @ Z | fog /222~
t J? = | fog
o _
| ﬂo‘arol.ulnrﬁn: the graph of each mxuosnnru_ function by doing the following: Sketch n:M.Mm,V}EoH _uco_g
| at least two distinct noo_d_smnm points on each mSer mE_}Emmjm Qo:am.:tmI:MHm!:mle& m,.mnr function . part2-— .RNN..NH Qﬁﬁhwzzm calculator is allowed.
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6. y=-4 (@) + 8 7.y=-3 m ) +4 12. Give the nansn increase or percent decrease for ‘each equation.
e T TTITLEL 5 a) y =3(1.13)* b) y = 0.3(0.938)*
FrTTT i . o/ . , 4
: i - ENNENNE #W\G A ves h\Mw{ mm,h.,\\\ﬁ.“.,x?ﬁ\
] EEEEEEENE T T 1717 ~13. Use a calculator to approximate log, 9 to three decimal places. Show your work by using the change-of-
I - E g
o ] - : base formula.
O A |- I & ﬂl\\\\\.\l\l
A - s Lo . &Ppww\ =t | 2,779
A - ) 1 4 HAra L :
1 ] -t 7 TFor 14- -16, solve each equation. ‘If necessary, round answers to three decimal places. L
- : - - 14. 5 +log,a =3 15. —4logs(9x) — 7 = -23 16. 7-9%P"* +3 =145
. 2
in: : } +77 7k Y
Domain: Range: ) . 47 © _
Domain: nge: < — gD ...# : —= Q & =4z
s 0 — QO\ ] mt\ “O\ gov / A N\\h\
-7 .v : e 4x )= 16 -
( -1 _de 9 b

(04, Ax= oy, o = 2pH

J
b= 9x . 515406 = Zp-t
(290 = 9x U, ¥l 5% = MW
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17. Dennis just inherited $10,000 from a distant 18. The value of a new car uc_‘n:mmma 8_‘ $20,000
relative who passed away. After spending

R decreases by 10% per year. Write a
$2,000 on new tank-tops, he puts the rest into a decay model for nrﬂ <m“\_:m of ﬁ:mMm_.: Mxmﬂom,mm::m_
savings account that earns 4.5% interest model to mngmﬁm the value after 4 <mm_‘m
compounded monthly. How much money will ;
he have after 5 years? 125

o ™ s | _ u Moooom §v
=gwo(1+ B3 y= 2000 (- ?v
=t10014.37
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I Application— show all work to eam Sull credit!

18. Audrey just won the mega-millions lottery! She
decided to take a lump sum payment of $250
million dollars. While thinking about what to do
with the money, she wondered how much she
could earn from the interest each year if it was

20. The magnitude of an earthquake can be modeled
by M = 0.29(In E) — 9.9 where E is the
" amount of energy released (in ergs). During Mr.
Bean’s senior year in high school, he woke up to
an earthquake that relcased 8.18 x 1022 ergs.

all put into a savings account that compounded |  Mr. Bean’s skis actually fell off the wall and he
continuously. She found an account that would thought there was a monster truck outside his
pay 2.25% interest. How much interest will she bedroom window...seriously...it was scary! What
gain after one year? was the magnitude of this earthquake?

,0225(1) mz . 29( 4 ( (v.18x10%)) =4

A= 250e ) .
€5 mil.| 2 = .
A Nmm.?ﬁwnﬂ\\r\u 5 | Eﬁ\mﬁg \M\u\\

where | is the intensity of the sound measured

21. The decibel level of a sound is given by D = 10 —om TS z
in watts per square meter.

a) What is the decibel level of a police siren if the sound intensity is 3.162 x 10~2 watts per square

D= g g mE = (05,0

b) If an NBA arena has a decibel level (dB) of 120. What is the sound intensity? How many times
greater is that sound than a police siren {from part a)? ,
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120 = 0 \@d ot
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